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QUESTION 1 (30 Marks: 30 Min)
1.1 The urban transport system can be classified into two sections. Citing examples,

identify and explain the two sections. [10]
1.2 Highlight the assumptions the transport planning process is based on. [5]

1.3 In South Africa there are three spheres or levels of government that are concerned
with transport planning. Each level has its own responsibilities with regard to
transportation planning. Identify the three levels and describe the responsibilities of

each level in terms of transport planning. [15]
QUESTION 2 (30 Marks: 30 Min)
2.1 Differentiate between short term and long term planning [8]

2.2 Identify and define the concepts involved in the four stage demand estimation model

[12]
2.3 Briefly explain the steps involved in the evolution of transport systems. [10]
QUESTION 3 (30 Marks: 30 Min)

3.1 Identify and explain the most important components that make up urban dynamics
and that interact with one another in an urban area [10]

3.2 Discuss the strategies in travel demand management that can be employed in an urban
area in an attempt to reduce congestion: [12]

3.3 Identify and briefly describe any four (4) Active Traffic Management (ATM) approaches
that can be implemented in an urban area [8]

QUESTION 4 (30 Marks: 30 Min)

4.1 Describe any five (5) of the core set of strategic actions aimed at leveraging and
enhancing the delivery of rural transport infrastructure and services as set out in the
Rural Transport Strategy South Africa. [15]

4.2 When you're the victim of a car accident, physical injury is often the most obvious
consequence, however, there are many other potential consequences that you could
be suffering as a result of your accident. Identify and explain five such negative
impacts as a result of a traffic accident. [15]
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